Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V-EXAMINATION - WINTER 2015

Subject Code: 351905 Date: 14/12/2015

Subject Name: Estimating, Costing & Contracting

Time: 10:30 AM TO 1:00 PM

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (@ (i) Write difference between estimating & costing.
(i) Explain any one method to calculate depreciation.
sl 1 A (i) ARARI wa 51211 ARl dstald AUl

(i) SYl{lAuet uctsll o A As I wnendl.

(b) Catalogue price of Shaper machine is Rs. 50,000. Distributor is given
discount of 10%. Office over head + sales over head = factory cost,
Material cost : Labour cost : Factory over head = 1:3:2 & labour cost is = Rs.
9000, find profit on Shaper.

o As AU Hallat ol 32clol B Rs. 50,000 8. (3E20Y2 A 10%
(3351602 vluclHl WA B, W(3U W ARES AHY AU VRS oll
ARAN ¥52R slke Bl dld B. ol HRaA 5lke: AuR slk2: ¥523l
U ARES = 1:3:2 Slal dll AuR Sl2 = Rs. 9000.8la Al AUR H2lat
Hle o8l 20l

Q.2 (@) List elements of cost & factors affecting Gas welding.
Ysl.? A O Aol Hiz A@AN2U vl Sl AM WUR 5cll URHAL AW,
(b) Define Break even point. List it’s importance in Industry.
ol a5 8cel W2 ofl caltvall A, o523l Ml Aoll wdLRLAl AW
OR

(b) Explain with sketch effects of changing following parameters on Break even
point:
(i) If fixed cost F decreases (ii) If variable cost V increases.

o olActl AAHL2R arRgRdl cecadl ds gaet WeSoz GUR Ul AR
LA gl A Al
(i) % (3535 slke F aelscudl a1 (i) %l AAUA 5ke V adlRalM
wlA .

(b) A circular Aluminium rod is to be reduced from 50 mm to 40 mm for a length

of 100 mm. in two cuts. Assuming cutting speed = 20 mt/min. & feed =0.01
cm/rev. , Estimate time required for turning.
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As ANNUsR AR|MARAH ol U0 50 mm . Hiell 40 mm U
Yol 100 mm dolleS HIZ A 52 Ui YelsallHl wA 8. sl s@at 1ls -
20 mt/min. ¥l $ls =0.01 cm/rev &l Al 2(efol sall W2 ol UHA

L.

OR
Define pattern. List & explain types of pattern allowances.

Yeol ofl cautuaul Aull. V2ol AAGL oll UsLR ol el vl A Ul

Estimate time required to drill 6 holes of 1 cm. diameter in a plate. Depth of
hole =2 cm. , Cutting speed = 15 mt/min & feed = 0.01 cm/rev.

Us WA Hl 1cm. U™ YRLddl 6 SleL ulsall Hie ol AHaU .

A oll Qs = 2.cm, sBaL vUls =15 mt/min A $lS = 0.01 cm/rev B.

Explain any five sheet metal operation with sketch.
ol A wiu 2lle Redt uRet sl gLt Axstal.

Calculate time required for shaping a 25 cm x 25 cm C.I. block on Shaper
machine in a single cut. Feed = 0.06 cm/stroke & cutting speed = 10 mt/min.

25cmx 25cm C.l. 6Als of As s2 ML AUR Hallel gl Alal sacl

HI2 oll ™ML KL $ls = 0.06 cmi/stroke ol s(3oL 2ULS = 10 mt/min.

OR
Explain any five sheet metal joints with sketch.

oA A Ui 2le Ned Ao sl glrl UMl

Estimate time required for finishing 100 cm x 30 cm size surface on
Planning machine. Take cutting speed = 15 mt/min & feed = 0.1cm/stroke.

100 cm x 30 cm ol AU of etletk Hallot giRl (3Rl sal 1R ol
Axa . 5ot AUls = 15 mt/min A 4ls = 0.1cm/stroke .

List modern tools & techniques of cost reduction.

52 dalsal HI oll Hsel 2c Ual 2505 ofl el Aul.
Explain any two types of budget .

AN A A YSIR ol tBe AHA.

OR
List & explain in brief documents required in engineering contract.

AoVt Sloatse M2 %33 SsyNo2 ol ALEL AVl Wal UM,
Define budget & budgetory control & list purpose of budget.

g2 ol 6B soRlc ofl cautvul AVll. AU 6lx2 oll & AU,
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